=15

h=1-2 p=2-3 b=3-4

RO 1517 2 |23|27 (32| 4 RO 17| 2 |23 |27 |32 4 RO 165|117 2 |23 |27 (32| 4

11 0.297| 0.274( 0.261| 0.261| 0.246| 0.242| 0.208 11 0.329| 0.304| 0.293| 0.278| 0.263| 0.234 11 0.455( 0.409( 0.356| 0.329| 0.313| 0.285| 0.249

) -0.160(-0.143|-0.143|-0.120|-0.114|-0.058 ) -0.245(-0.212|-0.198|-0.177|-0.154|-0.105 i -0.366-0.299|-0.264|-0.240(-0.197(-0.138
0.255( 0.257( 0.239| 0.237| 0.199 13 0.283| 0.274| 0.271| 0.260| 0.249| 0.219 13 0.328| 0.292( 0.290( 0.281| 0.258| 0.228

-0.173|-0.160]-0. b b -0.062 -0.240|-0.188(-0.185(-0.171]-0.130|-0.074
0.280| 0.272 0.248 0.219

-0.132(-0.136(-0.106|-0.102|-0.031
0.245| 0.228( 0.230( 0.189 b 4 g : 0.211

-0.111]-0.081(-0.084(-0.001 i b b b : -0.037 1.5 -0.164|-0.151(-0.105[-0.046
0.229] 0.231| 0.183 4 4 . 0.204 1.7 0.279 0.269| 0.239| 0.209
-0.083(-0.086|+0.017, ) b b . -0.015 | -0.142(-0.081(-0.014
0.218 0.226( 0.169 g g 0.194 2 0.269| 0.229| 0.200

-0.075 +0.019 -0.144
0.177
+0.076 23
0.155 27

17| 2 |23 |27 (32| 4

0.280( 0.266( 0.252| 0.243| 0.212
-0.187(-0.168|-0.148-0.135(-0.083
0.236| 0.235| 0.230( 0.228 0.195
-0.109(-0.108|-0.100|-0.096|-0.033
0.227] 0.225( 0.224( 0.188
-0.092|-0. . -0.012

2 |23 (27 (32| 4 RO 15|17 | 2 |23 |27 32| 4 RO 15|17 2 |23 |27 |32 | 4
0.258 0.245( 0.235| 0.230| 0.197 1.1 0.390( 0.330| 0.289 0.268| 0.260 | 0.245( 0.223 11 0.355( 0.291( 0.266| 0.256| 0.254 | 0.239| 0.228
-0.157(-0.138|-0.123|-0.116(-0.059 ) -0.228 i -0.234|-0.202|-0.189|-0.186|-0.162(-0.143

0.223| 0.219( 0.220( 0.185 13 0.224
-0.101-0.095|-0.089-0.090-0.025 ) -0.130
0.225] 0.219( 0.220( 0.181 15
-0.099|-0.090(-0.091(-0.011 )
0.216] 0.218| 0.173 17
-0.081-0.086|+0.014 .
0.210] 0.217] 0.163 2
-0.082+0.046|
0.220| 0.151
23 +0.090 23
0.127 27

0.7 0.75 0.8 0.85 0.9 0.95 1
Adjusted R (corresponding to linear regression coefficient in each cell)




